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Chapter 8


Meson Mass Matrix


Close up on meson mass matrix states as: 
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After some algebra we find 
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2. In opposite limit f 
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has two vanishing eigenvalues. So η gets infected and the GM-O relation is 
badly violated. The general case is a little messy but with mu = md � ms we 
easily arrive at 

υ (mu + md)ms2 2 minfected η → 3 = 3mπ (8.11) 
f 2 mu + md + ms 

In general, this serves as a bound for all values of F . The low light meson is 
f 

unacceptable unless it is very weakly coupled. This is the UA(1) problem. 


